
  



  





  



  



  



  



  



  



  



  



  



  



  



  



  



 



  



  



  



  



  



  



  



  



  



  



  



  



  



  



  



 



  



  



  



  



  



  



  



  



  



  



  



  



  



  



  



 



  



  



  



  



  



  



  



  



  



  



  



  



  



  



  



 



  



  



  



  



  



  



  



  





  



  



  



  



  



  



  



 
  



  



  



  



  



  



  



  



  



  



  



  



  







  



  



 
  



  



  



  



  



  



  



  



  



  



  



  



  



  

 

to concent :s 
if :s > 70 [stop] 
circler :s 
step 3 
concent :s + 3 
end 
 
to step :dist 
pu lt 90 fd :dist 
pd rt 90 
end 
 
to circler :radius 
make "steps (2 * :radius * 3.1416 / 36) 
repeat 36 [ rt 5 fd :steps rt 5] 
end 
 



  



  



  



  



  



  



  



  



  



  



  



  



  



  



  



  



  



  



  



  



 



  



  



 


